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81. NG Tehi § ¥ G bl HERR! & foug # Afde deh geania :

(1) T 1 92aRT 3% & Fifch 30d fafas T Tqel o Sd <ohire SR
FH E ST E |

(2) WIS ZHT 3T ToThe TR &8 3R TeiTaeh SRRl 1 &7 o ol
& | 3T G | G 397 IS e & WM & 6l 37T § |

(3) TEEEIR! F Adh [k Ul & foTu & TR U=T el AT SRR T8
TEEEIFI % ToTT off FETRT T FHROT o AT € |

(4) R HT AAAT & BT & fF ST T 39 I T & ST § S o
T i ST ST 3R o AN 39T & 9 @ |

Which among the following statements is a moral reason regarding the

desirability of power sharing ?

(1) Power sharing is good because it helps to reduce the possibility of conflict

between social groups.

(2)  Social conflict often leads to violence and political instability. Hence power

sharing is a good way to ensure the stability of political order.

(3) Tyranny of the majority is not just oppressive for the minority, it often

brings ruin to the majority as well.

(4) A democratic rule involves sharing power with those affected by its exercise

and who have to live with its effects.
82. U HIRM H FS Tecaol foRiodreti W &I Ty
(A) TEI TR I AT 3T TR et il € |

(B)  3TCTT-3TeTT TR i TN T & ANRE T W IMGT Fdl € | W 37k
AMHR & TAT-3TTT Bl & |

(C) WiaEH TWHR & & TR & e TR TR i TRV 3R GLET Il
g

(D) YR T & T AT T SR & SAHR W & |
IR G o He¥ § 39 § S 727 Tl § ?
(1) B3RD 2) ASRD
3) A B3R C 4) A B, C3RD.
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Let us look at some of the key features of federalism :
(A) There are two or more levels ( or tiers ) of government.

(B) Different tiers of government govern the same citizens, but each tier

has its own jurisdiction.

(C) The existence and authority of each tier of government is

constitutionally guaranteed.
(D) All states in the Indian Union have identical powers.
Which facts are correct regarding Indian Federalism :
(1) BandD (2) Aand D

3) A, Band C (4) A, B, Cand D.

83. YRR Tau™ st et g | AT (= 9rrstt S S arelt % U ° Sed
FH T SRS

o0 o0 (a

(1) &=t Tet, dery, sive 2) B, STAT, def, TS

(3) fe, depy, Wivem, W@ (4) e, |l wUeY, o |

Find the correct sequence of languages in the ascending order according the

proportion of speakers as described in 8th Schedule of the Constitution of India :
(1) Hindi, Marathi, Telugu, Bangla
(2) Hindi, Bangla, Telugu, Marathi
(3) Hindi, Telugu, Bangla, Marathi

(4) Hindi, Bangla, Marathi, Telugu.
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84. GHo Ifed qon 8 T %2 ¥ Wl I A

(A)
(B)
(€)
(D)
e ¢
A
(1) i
2 i
(3) i
4) i

et - 1
WA % fafyE e 99 fornfae,

HTATTTeR 3R =TIUTeTeRT & oI Gl

T AR haT AT & |

AT T SaRT fafes Frfseh gl o
o fohar STaT § |

T & HifeTeh WEeE ot hdr T
TR I THR 3Thel ol d8eT Fehel |
IRAT AR e o didl &R
T Gt |

B C D

i iv iii
ii iii iv
iii ii iv
iv i iii.

et - I

(i) HHEIFS THR
(i) T T iAot foeRoT
(ii) 1992 H

(iv) HEaR |

Match the following and choose the correct answer from the code :

(A)
(B)
(€)
(D)
Code :
A
(1) ii
(2) i
(3) i
(4) ii

List -1
Power is shared among different
organs of government such as the
legislature, executive and judiciary
Power is shared among different
social groups
The fundamental provisions of the
constitution cannot be wunilaterally
changed by one level of government
The constitutionalisation of 3rd tier

of Indian democratic system.

B C D

i iv iii
ii iii iv
iii ii iv
iv i iii.
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List - II

(i) Community Government
(ii) Horizontal distribution of

power

(i) In 1992

(iv) Federalism.
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85. GHIT HiteTd T 5 T Fe W Tl W g ¢

(1)
(2)
(3)

(4)

(A)
(B)
(©)

(D)

iii
ii
iii

ii

et - 1
e g
T g
e et
AT TTHR

ii i iv

iii iv i

i ii iv

iv iii i.

et - 11
() HIE GTRR
(i) SR
(iii) Tomer
(v) e |

Match the following and choose the correct answer from the given code :

(A)
(B)
(C)

(D)

Code :

(1)
(2)
(3)

(4)

iii

ii

iii

ii

List -1
Union list
State list
Concurrent list

Residuary powers

ii i iv

iii iv i

i ii iv

iv iii i.
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List - 11
(i) Computer software
(i) Banking
(iiij Education

(iv) Police.
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86. [ & ¥ ®IF-Hl U Ay Joias &7 a1 § 2
(1) @ 2) 9heA
(3) == 4 T
Which one of the following is an activity of the tertiary sector ?
(1) Mining (2) Tourism

(3) Dairy (4) Agriculture.

87. WRA & fohq 5T H A 334 ferd & 2
(1) T (2) feER
(3) TR (4)  HAH |
In which state of India, is Amul Dairy situated ?
(1) Rajasthan (2) Bihar
(3) Gujarat (4) Karnataka.
88. ‘TS SURRT feor’ H=man ST ©
(1) 24 fG@=R = (2) 24 TR H
(3) 24 faa=R Ht (4) 24 ITFER I |
The ‘National Consumers’ Day’ is celebrated on
(1)  24th December (2) 24th November

(3) 24th September (4) 24th October.
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fordl 397 Y UREIT AT T TR FoT AR ¥ T & W, g6 e gnem
(1) oETdH 3 (2) Tehel BYE] 3R
(3) il e 4) ufa =ERE o |

National income of any country is divided by its total population, we get

(1) personal income (2) gross domestic product

(3) private income (4) per capita income.

TS YT % Ui & B 9 - U ot g 2
(1) e fafy (2) 3 fary
(3) sl faty @) TG |

Among the following which is the method to estimate the poverty line ?

(1) Investment method (2) Income method

(3) Capital method (4) All of these.

Fet & & -1 el e E 2

(1) 379l TUUT Sl oehall s 39 QM Rrd gldr € Sefsh 3qct <901 § I8 <907
& U® REd T e |

(2)  3TadeT YUT T Tehall e 39 IS [ giar € STaish 3Tet 3907 | I8 JU0T o
e o g €

(3) 3Tl TS 3T ST SUUN o ofshall ohg <UUT o HHM R &id € |
(4) e U STl AT g o ashal s SUUT % U9 Fed gid € |

Which of the following statements is correct ?

(1) Centre of curvature of a concave mirror lies in front of it whereas that of

convex mirror lies behind the mirror.

(2) Centre of curvature of a concave mirror lies behind it whereas that of

convex mirror lies in front of the mirror.

(3) Centres of curvature of both concave and convex mirrors lie in front of the

mirror.

(4) Centres of curvature of both concave and convex mirrors lie behind the

mirror.
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92. T X, XCl, G acT FeANTZS AN & ST Uoh 31 & A1 FoTHehT TTefish A & |

Ed IRV § el X [h9 90 & SiaTd g ?
(I) Na (2) Mg

(3) Al 4) Si.
Element X forms a chloride with the formula XCl 5 which is solid with a high

melting point. X would belong to the same group of periodic table as

(1) Na (2) Mg
(3) Al 4)  Si
93. 8g RIS H ST ! TEAT FHI U HIT
(1) 8x1023 2) 602x1023
3) 1-51x102%8 4) 8.

Calculate the number of molecules in 8g O 5"

(1) 8x1023 2) 602x1023
3) 151x1023 4) 8.
94, = 0 T FH-T %ol & fow W& € 2
(1) RS T st (2)  IHRAMCH AT W]

(3) WihRANCH quT WS (4)  ThATEH AT GsTer |

(=N

Which of the following is correct for Fungi ?
(1) Prokaryotic and saprophytic
(2) Eukaryotic and autotrophic
(3)  Prokaryotic and autotrophic

(4) Eukaryotic and saprophytic.

95. I 9 BHM % GIATT o AU HA™SH e § 2

(1) gt (@ iR

(3) g (4) SR |
Iodine is essential for the synthesis of which hormone ?
(1) Adrenaline (2) Thyroxine

(3) Insulin 4) Oxytocin.
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98.

99.
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(37) SAT-3

‘AT forehe Tota’ T IR fohche ool Ty gt

(1) T (2 =

(38) oYY 4) chefehl |

'Oriental Cricket Club' the first Indian Cricket Club was founded at

(1) Madras (2) Bombay

(3) Kanpur (4) Calcutta.

= ¥ ®F-91 FRS IR It ¥ Fraf-ad Tal € ?

(1) =sFard (2) TREEIRE ¥R

(3)  vEfed qaA (4) SR |

Which of the following is not associated with Coriolis force ?

(1)  Cyclones (2) Ocean currents

(3) Prevailing winds (4) Jet streams.

AT AT T G o, TR T H 8 |

(1 = @ o

(3) A (4) TS |

The local government structure goes right up to the ........................ level.
(1) Village 2) Ward

(3) State (4) District.

IRA % fhg To9 T STfehad T9H ShH, WehRI THIAE & AT § A Sl € 2
(1) TERTZ @  feoelt

(3) T (4) T |

In which state of India maximum fair price shops are run by the co-operatives ?

(1) Maharashtra (2) Delhi

(3) Tamil Nadu (4) Gujarat.

FOT & SN Bl | INHA el &

(1) WESR (2) WEERI W
(3) FER (4
Informal sources of credit do not include

(1) moneylenders (2) cooperatives
(3) traders (4) friends.
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